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MEXH) 3.2 FUh—RILMI&SMEIIFEEIIFICECTRNT S,
1. #fE= E—rRKROO—)LEEHFI= VL
2. fs4=  |ECV-D150AD185A,D225A
3. HIREET
(MHOHFEE:M M= 399 kg
QHBEE W W=M x 10/1000= 3.99 kN
(2)7Uh—K b
OBAERE n n= 6 PN
Q" W ME  d (FEFR) M 12
Q@—AH =Y DEHITETE (FRICLDMETE) A=| 11304 |cm?
O BRELBEZEZ-HEAEDEIRYEZITEFRIDT/A—K WMEARE : nt
nt= 3 N
RFEFELVEREDETOES hG= 51.8 cm
(4)RBETT BAMMDDIHT=RMIANY = 80.0 cm

(5)REFT DA MM A=K WL NOHEEFE D ETOHKT IR

IG=[___ 398 |em (G=1/2)

4. BEETE
(1 ERETRAKEEE :KH KH= 1.5 &%,
(2)E&EtHKFEHES FH FH=KHXW= 5.99 kN
(3)EXETHMMEESN FV FV=1,/2xFH= 2.99 kN

(D) T7oh-KMDIRHF-YDEI4RA Rb

Rb={FH-hG—(W—FV)-IG} /{I-nt}=[ 11 |kN

(B)7Uh-K WDIRBYITERTHEAMAN :Q

Q=FH./n=[ 100  [kN

(B)FUh—FK WMZET B NE
0 =Rb /A= 1.00 |kN/cm?

D3I28RYHE o

o=[__100 | <ft=[___ 176 |kN/cm®
QEAMLHE © T=Q/A=[ 088 |kN/ocm’
r=[__088 | <fe=[_ 101 JuN/em’
QB RYEFABERIBFICZITSI5EE
fts=14ft—16 T =| 232 |kN/cm?
o= <fts= 232 |kN/cm?

(7) T LR MR - lET4a &t 1 (2014 F R — MR MEZABABE L 2 ) DRART1EY

D7Uh-KIMELE = FRER I, JARRUAN R IMTE |
@a1vy)-tE&=[__ 180 |mm = 018 |m
QR M DIEBHAA RS
L=[__ 128 |mm =[_ 0128 |m
DFBSIESRERE Ta= 5.6 kN
Ta=[ 56 JkN>Rb=[ 11 [N
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